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2023
ECONOMICS
( Honours Generic/Regular Course )
Paper : ECO-HG/RC-4016
( Principles of Macroeconomics—II )
Full Marks : 80 ..
Time : 3 hours -

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O APIRI ey fory

{a) Define LM curve.
LM Q3R vigeq Bt |

(b} What is the condition for equilibrium in

the money market?
T4 I SIRAOR 56 2
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(2)

Define aggregate demand.
STl SR ke

What is liquidity preference?
SR 5% 2

Give the meaning of cost-push inflation.
-FFaie AT uy B |
Why does deflation occur?

SRS R Ssr w2

What is the meaning of foreign
exchange?

eaP R s 32

Define hyperinflation.

7S JErRRT e fian

Who gave the concept of Phillips curve?
P IR R @A SRR 9

What is rate of exchange?

REm A IAR 2

( Continued )

(3)

2. Answer the following questions : 2x5=10

G PP el e

(a) Explain aggregate supply function.

TREE QW T R, I )

(p) Show the differences between demand-
pull and cost-push inflation.

iw-{EEfe wF |- qErdiRe
&S NYFPHR YSA |

{(c) How does effective demand determine
employment?

A TR TEw Rw iRt 3@ 2

(d) What are the differences between
Current Account and Capital Account?

;ﬁsﬁmww@ﬁm«mmw
|

(¢) What are the instruments of foreign
exchange?

., Rt Rivwr wifkermz & 2
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(4)

3. Answer any four of the following questions :

5x4=20

G PP R TN wiRbR SR foya -

(@)

(b)

{c)

(d)

fe)
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Give the reasons for shift in the
aggregate demand curve.

;:gﬁa M @ TERRS @A FREPYZ
|

What are the weaknesses of I1S-LM
model?

IS-LM WIfRCBR yHerormz & & 2

Discuss the determinants of i_nﬂatiori.

TErRfes R e = |

Discuss the working of multiplier in
brief.

SR IR TRS A= 47 |

What are the characteristics of fo
exchange market? Discuss,

@t R I=s
By @RErmE R R0

reign

{ Continued )

0

4. Answer the following questions :

(S)

What does the short-run Phillips curve
show?

ZeEr Rffep @ik [ crqeam 2

10x4=40

TR PRI Tel o

(@)

()
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What is effective demand? Explain the
importance of effective demand and its
determinants. 2+8=10

ierm wiidm {7 AAF SRR @ey wF WA
iR I 01

Or/ 5

Distinguish between aggregate demand
and aggregate supply. Discuss the
components of aggregate supply. 4+6=10

AT TR WF T Qe TEe N
fort | ST IR ofRTE, S 4 |

What are the features of IS curve?
Explain the derivation of IS curve. 4+6=10

IS QIR RMBER & &2 1S @R wrma
Sffésan I 940
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Or / 9431

Explain the IS-LM model with the help
of diagram.

IS-LM Sif3Zo1 fouq 12 v 341 1

Discuss the various effects of inflation.

TarRRe RiSA JoRER e 3434 |

Or / 9431

Write a note on the long-run Phillips
curve.

R Rferep @R Rew 9B G o

How does IS-LM curve explain the
relation between rate of interest and
income level? Discuss.

IS-LM @¥iX ¥ 4909 3[o1 3¢ 9F R Wreo
o T R0 7 WA T4 |
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( Continued )

(7)

Or/ 91

What is Balance of Payments? What are
its components? Distinguish between
Current Account and Capital Account of
Balance of Payments. 2+4+4=10

G el 0 TR Sz R Rer

TN TWeR ofere Rore Wi wew 3R
“f1ef3y for 1
% % ok
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